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x90% = 62.1

x30% = 21.6

x10% =2.4

x 20% = 14.6

x 90% = 52.2

x 90% = 76.5

x 30% = 24.6

x 10% = 2.8

x 50% = 40.5

x90% = 67.5
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[ara:

x 50% = 4

x 70% = 40.6

x 50% = 44

x 20% = 7.6

x 50% = 44.5

x 80% = 36

x 60% = 59.4

x 10% = 5.5

x 20% = 12

x 80% = 57.6

Orenka:
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Nwms:

69 x 90% = 62.1

72 x30% = 21.6

24 x10% =24

73 x20% = 14.6

58 x 90% = 52.2

85 % 90% = 76.5

82 x 30% = 24.6

28 x 10% = 2.8

81 x 50% = 40.5

75 % 90% = 67.5

8x50% =4

58 x70% = 40.6

88 x 50% = 44

38 x20% = 7.6

89 x 50% = 44.5

45 x 80% = 36

99 x 60% = 59.4

55x10% = 5.5

60 x 20% = 12

72 x 80% = 57.6
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Jlara: Orenka:
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